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Enlist the functions of a finance m%ga?ger S

What is a "common size statem O,
What is financial leverage?Howsis it different from operating leverage?
f Net Present Value (NPV)

D1scuss in brlef the conce:

This.statement is
i) False

1)  Can't say

Elaborate the determinants of capital structure.

Discuss in brief the factors responsible for detemﬁ gt
capital. ’

Compare the traditional methods of ca

“budgeting with the modern
methods/techniques of capital budgetin!

What are Turnover Ratios ? Explain aﬁ& two turnover ratios.

PT.O.



Following data is extracted from the books of XYZ ltd.
(Rs)

sales 5 {)O 000
less: variable cost ,S0,000
3,50,000

contribution

less: fixed cos 1,00,000
EBIT 2,50,000
less: Int 50,000

2,00,000

11) Degree of Financial leverage. %

=

" iii) Degree of combined leverage. o/
Also, %

Calculate DOL, DFL & DCL if salgg jhcrease by 6% with other factors
remaining same. >

b) Based on the given 1nform§% ‘
Calculate: i) Gross pfofit
ii) Current ra;m :
ii1) Stoek: ’Fﬁrnover Ratio (based on COGS)
iv) Debtgtqmty Iatlo
V), Average, callectlon period.
Income stater’lent of PQR Ltd.

- (Rs)
sales 10,00,000
raw materials consumed 2,00,000
wages 2,00,000
manufacturing expenses 1,00,000
cost of goods sold 5,00,00
administrative expenses 50,00
selling & distribution expenseg 50,00
Net profit 4,00,000 .,
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i

[}

Balance sheet of PQR Ltd as on 31%*March et f
Qy 4 e 4
4 ‘\».__/
Liabilities Amount (Rs.) {7 Assets Amount (Rs.)
Equity capital 2,00,000 Fixed assets 2,50,000
Reserves Stock 2,50,000
Debentures Debtors 1,00,000
Creditors Cash & bank 1,00,000
Bank O.D.\
Totzh> ] 7,00,000 Total 7,00,000

04) a) Alfe Ltd has currently an ordinary share capital of R§:251akh, consisting
of Rs: S,OOO shares of Rs. 100 each. \

Thunanagement is planning to raisé anotheitRs 20 lakh to finance a
madjor programme of expansion th;mugh one > of the 3 financial plans,

given below. ~
1)  Entirely through Equity Sb

ii)

i)

This company is'e: Qee.ted to earn EBIT of Rs.8 lakh. Assuming a tax
rate of 35% determine t%ﬁe EPS in each alternative & commenton
implications'of ﬁnancml -feverage. Which alternative should be seleated"

OR

by XYZLtd sells its pr:)ducts on a gross profit of 20% ¢: ales% ollowing
"\ “infermation is extracted from its annual accounts for the year ended on

31 March. o
Sales at 3 month's credit Rs. 40,00,000
Raw material > Rs. 12,00,000

Wages- avg time lag 15 days Rs.  9,60,000
Mfg.expenses-paid one month in arrears: i Rs. 12,00,000
Admin. expenses, paid one month in é,rrears Rs.  4,80,000
Sales promotion expenses-payable Rs. 2,00,000
halfyearly in advance.
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This company enjoys one month's credit from its suppliers of raw materials &
maintains 2 month's stock of raw materials & 1% month's stock of finished
goods. Cash balance of Rs.1,00 000}5 ‘maintained. Assuming 10% margin,
findout the working capital needs of XYV Z Lid.

05) a) ABC Ltd, wh x,ost b, éépital is 10% is considering two mutually
exclusive proj X & : . The details of which are:

Project X(Rs.) |Project Y(Rs.)

70,000 70,000
10,000 50,000
3 20,000, 40,000
3 30,(;60 " 20,000

4 A 453{)()0 1 0,000

0,000 10,000

© 1,65,000 1,30,000

Calculate NPV, P I of Project X roj ectY Which project should be selected?
Why?

PVF @ 10% for year,| to

are (O 900 0.826, 0.751, 0.683, 0.621)
" _OR
b) Calculate the.cost of capltaJ in following cases.

). XULtd issues 12% fkdebentures of face value Rs.100 each &jreahzes
R$.95 per debenture. These debentures are redeema
at a premium of 10%

&

lue-0f Rs.100 each at
ible) at par after 12 years.
g‘msome tax at 50%.

i) Y Ltd issues 14% preference shares of f;
Rs.92 these shares are repayable ( red
Assume that both the companies are

YRR
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